
E 3401-0811

1

2

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

20

21/22/23

24

25

26

2827

29

30

31

32

3

MA= 86Nm



E 3401-0811 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11000930   31 2 25044026  DIN912-M12x35 

2 4 20004039   32 2 20029026  Nord-Lock 12,0 

3 4 20022003  Tensilock M10        

4              

5 1 25030002  DIN908-M14x1,5        

6 1 11000789          

7 2 11001031          

8 1 10005404          

9 1 20013008          

10 4 25044004  DIN912-M8x16-10.9        

11 4 20029011  VSKZ 8        

12 1 11000756          

13 1 20013090          

14 1 11000934          

15 2 25044006  DIN912-M8x25        

16 2 20029024  Nord-Lock 8,0       

17 1 21000641  DIN7991-M8x25-ISR       

18 1 25005003  DIN6798-V8,4       

19 1 11000945         

20 2 25001152           

21 0 25025218  DIN988-PS-50x62x0,5         

22 0 25025217  DIN988-PS-50x62x0,2         

23 0 25025215  DIN988-PS-50x62x0,1         

24 1 25017007           

25 1 11000970           

26 1 11000971           

27 1 10016071           

28 1 10007370           

29 1 20029001  VSK 10         

30 1 11000946           

10.13        


